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MT-05
June - Examination 2018
B.A./B.Sc. Pt. Il Examination
Differential Equations
Paper - MT-05

Time : 3 Hours ] [ Max. Marks :- 67

Note: The question paper is divided into three sections A, B and C.
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Section - A 7x1=17
(Contain seven (07) Very Short Answer Type Questions)

Note:  Examinees have to attempt all questions. Each question is of 01
marks and maximum word limit may be thirty words.
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1) (i) Solve (8T HIRR) = (e* + 1)cosxdx + e’ sinxdy =0
(i) Solve (8 PIRA) = v —pr)(p—1)=p
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(i) Solve (8aT HRR) .= (D>~ 3D+2)y =0

. . . . dx dy _dz
(iv) Write geometrical meaning of P-0 R
d
& - gy = & o St oref e

(v) Find the part of complementary function of
Rh el DT Y HIT S1d HIR|

2 d2y

dx2—<x2+2x>dy+<x+2)y =x’e"

dx

(vi) Define order of partial differential equation.

37fITeh 3Tdhel FHIARUT Y Bife Dl TRYTRIT HifvR |

(vii) Find complete integral of

(quf HHBT T DI
Z=px+qy—2\/ﬁ

Section - B 4 X8=32
(Contain Eight Short Answer Type Questions)

Note:  Examinees will have to answer any four (4) question. Each
question is of 08 marks. Examinees have to delimit each answer
in maximum 200 words.
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2)  Solve (8T HIRT) = (1+ ")+ dret™ {1 -~ ;} dy=0
3)  Solve (gl Eﬁﬁﬁ) = <x3 +xy4>dx +2)°dy=0
4)  Solve completely (‘JLUfH gl ?ﬁﬁ”l?j) = p’—4pxy+ 87 =0
5)  Solve (81 HIR) :-
dy _ady sdv 2y _,
ad xad Pde )
6) Solve (8 HIvR) :-
d’y dy ., dy
d3+(x 3>d2+4 e +2y=0
7)  Solve (gl Eﬁﬁﬁ) =
d? d .
g); - cotxdfi —SInx.y = Ccosx — cos’x
8) Solve (g ?ﬁ'ﬁﬂ?j) ‘= cos(x+y)p+sin(x+y)g=z
oz _
9)  Solve (gl ?ﬁ'ﬁﬂ?j) = ai);—gg:x—y
Section - C 2X14=28
(Contain 4 Long Answer Type Questions)
Note: Examinees will have to answer any two (02) questions. Each
question is of 14 marks. Examinees have to answer in maximum
500 words. Use of non-programmable scientific calculator is
allowed in this paper.
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Solve(gﬂiﬁﬁ”ﬁj
SOIVC(E(_”I'W

) -
) -

Solve Eﬂiﬁﬁ‘lﬁ) ( 2D+1>y xe”* sinx
) -

Solve (&1 HIR <5D+4> (2D+ 1>Z =e”
(D+8)y—3z=5¢>

(1 +y >dx <tan'1y —x)dy

— —ap

Solve(EﬂEﬁﬁP}f) y —4x Zy (4x — 1)y——3e sin 2x

Solve by method variation of parameter

(yrret faae fafer 9 g1 IR -

dzy
dx 2
Solve by Charpit method

(el (arfe) Rt & &et HIRR) -~ (p?+47)y = g2
Find complete integral of (qgf AHIhel Sld Eﬁﬁﬂ?}f) =

(P + 7)o" +3?) =1

+ 4y =4tan2x
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